Class:10th

Test:Chemistry

Attempt ......... questions

1

the atmosphere.
a) 697
¢)897

b)79%
d)99#

What percentage of nitrogen and oxygen is in
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a) 69%
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2 Which metal present in acid rain afffect the aquatic /=~ /¢ £ U x.tef S (f S Jos 10

life by clogging fish gills?
a) Lead
¢) Aluminium

b) Chromium
d) Mercury

Acid rain damages the building. It is due to
reaction on:

a) Calcium sulphate b) Calcium Nitrate
¢) Calcium carbonate d) Calcium oxilate
4 The major constituents of troposphere are

Nitrogen and:
a) Hydrogen b) Carbon di Oxide
¢) Oxygen d) Sulphur
° pH of rain water is:
a) 5-6 b)6-6.5
)6.5-7 d)7-7.5

6 The strange bitter smell noticed nearphoto

copier machine is of:
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a))5-6 b)6-6.5
¢)6.5-7 d)7-7.5
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H,S b) SO a)H,S b) SO,
)0, d)0, c) O, d)0,
7 Which pollutant is not found in car exhaust gases? il uf;’ o /,:f o /g J s J{f ,},. Uy
a) CO b)O, a) CO i b)O,
c)NO, d)so, ¢)NO, d)So,

every year due to accumulation of CO, in air?

5)0.05'C
d2°C

2)0.03'C
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